
OWNER'S MANUAL

�WARNING: READ, UNDERSTAND AND FOLLOW ALL INSTRUCTIONS AND 
WARNINGS BEFORE OPERATING THIS TOOL. FAILURE TO DO SO MAY 
RESULT IN PERSONAL INJURY AND/OR PROPERTY DAMAGE AND WILL 
VOID WARRANTY.

TOOL KART
Item Number W5192



2

7

9

8

5

1

2

6

3

13

14

4

10

11
12

 PARTS LIST
No. Description Qty. No. Description Qty.
 1  End Panels ...........2
 2  Uprights ................2
 3  Center Panel .........1
 4  Bottom Shelf ........2

 5  Shelves .................................7
 6  Top Shelf ..............................1
 7  Top Sign Holder ....................1
 8  6mm x 1.0 x 25mm Bolts .....4



3

TOOLS REQUIRED

ASSEMBLY INSTRUCTIONS

• 10 mm socket or adjustable wrench
• 8 mm socket or adjustable wrench
• 10 mm nut driver, socket or 
 combination wrench

1. Assemble locking casters (#10) into
 uprights (#2).
2. With the lower shelf ridges facing outwards, 
 assemble center panel (#3), onto uprights (#2),
 making sure that the top of the center panel (#3)
	 is	flush	with	top	of	uprights	(#2)	with	bolts	(#10),
 nuts (#11) and washers (#12), using washers on
 both ends of bolt. Assemble bolts only
	 finger	tight.
3. Slide signs (#14) into slots on top shelf (#6)
 Assemble end panels (#1) onto assembled
 center section of kart with bolts (#9 and #8), nuts
 (#11) and washers (#12), using washers on both
 ends of bolt. The two holes on one end of the
 end panel (#1) to top shelf (#6) and the 3 holes
 on the opposite end of the end panels (#1)
 correspond with the 3 holes in the lower part
 of the uprights (#2) and use bolts (#9). Assemble
	 bolts	only	finger	tight.
4. Tighten all nuts and bolts.
5. Install lower shelves (#4) onto assembled kart.
6. *FOR TOOL KART ASSORTMENT*
 Install shelves (#5) into following slots (counting
 down from top slot)
Side 1: Side 2:
 • Shelf 1 = Slot 8  • Shelf 1 = Slot 8
 • Shelf 2 = Slot 12 • Shelf 2 = Slot 18
 • Shelf 3 = Slot 18

7

9

8

5

1

2

6

3

13

14

4

10

11
12

No. Description Qty. No. Description Qty.
 9  6mm x 1.0 x 65mm Bolts ...16
 10  Locking Casters .................1
 11  6mm x 1 Nut .......................20 
12  6mm Flat Washer ...............40

13 Top Sign ................2
 14  Top Shelf Sign .......2

 PARTS LIST CONTINUED



LIMITED WARRANTY

PERFORMANCE TOOL® extends only the following warranties, and only to original retail purchasers. These 
warranties give specific legal rights. Except where prohibited by local law, the law of the State of Washington 
governs all warranties and all exclusions and limitations of warranties and remedies. There may be other rights 
which vary from state to state.

PERFORMANCE TOOL® warrants the product to be free from defects in materials and workmanship under normal 
use and service. A defective product may be returned for a free replacement within 90 days from the date of 
purchase, provided that product is returned to place of purchase immediately after discovery of defect. After 90 
days and up to one year from date of purchase, PERFORMANCE TOOL® will replace at no charge any parts which 
our examination shall disclose to be defective and under warranty. These warranties shall be valid only when a sales 
receipt showing the date of purchase accompanies the defective product or defective part (s) being returned. For 
part (s) after 90 days, please remit your request, postage prepaid to: 

PERFORMANCE TOOL, P.O. Box 88259 Tukwila, WA 98138

These warranties exclude blades, bits, punches, dies, bulbs, fuses, hoses, and other consumables which must be 
replaced under normal use and service. These warranties shall not apply to any product or part which is used for a 
purpose for which it is not designed, or which has been repaired or altered in any way so as to affect adversely its 
performance or reliability, nor shall these warranties apply to any product or part which has been subject to misuse, 
neglect, accident or wear and tear incident to normal use and service.

PERFORMANCE TOOL® does not authorize any other person to make any warranty or to assume any liability in 
connection with its products.

Except for warranties of title and the limited express warranties set forth above, PERFORMANCE TOOL® makes no 
express or implied warranties of any kind with respect to its products. In particular, PERFORMANCE TOOL® makes 
no implied warranty of merchantability and no implied warranty of fitness for any particular purpose, except that for 
goods purchased primarily for personal, family or household use and not for commercial or business use, 
PERFORMANCE TOOL® makes an implied warranty of merchantability (and, if otherwise applicable, an implied 
warranty of fitness for a particular purpose), but only for the particular qualities or characteristics, and for the 
duration, expressly warranted above. 
The laws on limitation of implied warranties may differ from state to state, so the above limitations may not apply in 
all cases.

PERFORMANCE TOOL® shall not be liable for consequential, incidental or special damages resulting from or in any 
manner related to any product, or to the design, use, or any inability to use the product. The sole and exclusive 
remedy for a defective product or part shall be the repair, or replacement thereof as provided above. The laws on 
limitation of remedies or on consequential, incidental or special damages may vary from state to state, so the above 
limitations may not apply in all cases. 

© Copyright 2022  WILMAR CORPORATION,  P.O. Box  88259  Tukwila, WA  98138




